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Toutes les Opérations (I) RéponsesCalculez chaque somme, différence, produit, ou quotient.12 × 12 = 144 10 ÷ 2 = 5 3 × 11 = 33 12 + 3 = 157 + 2 = 9 12 + 3 = 15 9 + 3 = 12 9 × 5 = 4516 - 4 = 12 10 + 9 = 19 5 × 6 = 30 4 + 8 = 1218 - 12 = 6 10 × 1 = 10 13 - 5 = 8 9 × 5 = 4510 - 9 = 1 11 + 1 = 12 18 - 10 = 8 80 ÷ 8 = 106 × 6 = 36 5 + 10 = 15 5 × 11 = 55 11 + 8 = 192 + 5 = 7 10 ÷ 1 = 10 3 + 7 = 10 10 + 4 = 1428 ÷ 4 = 7 9 × 5 = 45 2 × 9 = 18 9 + 10 = 193 × 1 = 3 12 × 8 = 96 2 + 5 = 7 10 - 3 = 75 + 1 = 6 11 ÷ 11 = 1 6 ÷ 2 = 3 7 ÷ 1 = 721 - 10 = 11 21 - 12 = 9 12 - 5 = 7 18 - 10 = 888 ÷ 8 = 11 9 - 6 = 3 16 - 8 = 8 14 - 2 = 121 × 3 = 3 15 - 8 = 7 9 + 3 = 12 22 - 12 = 1036 ÷ 3 = 12 17 - 11 = 6 6 ÷ 6 = 1 18 ÷ 2 = 99 + 9 = 18 5 × 3 = 15 8 ÷ 2 = 4 12 × 1 = 122 × 10 = 20 19 - 12 = 7 21 - 12 = 9 11 - 6 = 55 × 1 = 5 4 × 7 = 28 1 + 7 = 8 5 + 11 = 1612 × 9 = 108 12 - 6 = 6 3 × 10 = 30 12 × 3 = 3614 - 5 = 9 40 ÷ 5 = 8 10 - 5 = 5 16 - 4 = 129 - 7 = 2 11 + 11 = 22 11 + 4 = 15 13 - 12 = 112 ÷ 3 = 4 8 - 2 = 6 1 + 10 = 11 2 + 5 = 79 × 2 = 18 16 - 6 = 10 9 + 3 = 12 1 + 5 = 611 ÷ 1 = 11 1 × 3 = 3 9 × 6 = 54 4 × 1 = 410 × 4 = 40 2 + 4 = 6 2 + 4 = 6 3 + 3 = 67 + 7 = 14 1 + 4 = 5 4 × 6 = 24 2 + 9 = 11Mathslibres.com


